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1. �7>F (D<E. 3) E>45D6<F 464 4F><4 47>F4, >>F>DO= ?D>O6?O5F 64?5=F=>EFL III.
2. �>E<4 G7?5D>44(IV) (D<E. 1) E>45D6<F 464 4F><4 ><E?>D>44, ?D>O6?ONM57> 64?5=F-
=>EFL II.

�5D6>=4G4?L=O5 E<<<G5E><5 ?>=OF<O
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%<<<G5E><5 D54>F<<
%<<<G5E>4O D54>F<O 4 ?D56D4M5=<5 >4=<E 65M5EF6 6 4DG7<5 
557 <7<5=5=<O O45D 4F><>6.

%6>=EF64 <EE>4=OE 65M5EF6  %6>=EF64 ?D>4G>F>6 D54>F<<

�EE>4=O5 65M5EF64  �D>4G>FO D54>F<<

�D<7=4>< E<<<G5E><E D54>F<=:
ðþ 6O45?5=<5 7474;
ðþ >5D47>64=<5 <?< D4EF6>D5=<5 >E44>4;
ðþ <7<5=5=<5 F65F4;
ðþ <7<5=5=<5 74?4E4;
ðþ <7?GG5=<5 E65F4;
ðþ 6O45?5=<5 <?< ?>7?>M5=<5 F5??4.

'E?>6<O 6>7=<>=>65=<O < ?D>F5>4=<O E<<<G5-
E>>= D54>F<<:
ðþ ?D<6545=<5 D547<DGNM<E 65M5EF6 6 E>-

?D<>>E=>65=<5 (>>=F4>F D547<DGNM<E 65-
M5EF6);
ðþ =47D564=<5 4> >?D545?U==>= F5<?5D4FGDO;
ðþ >E65M5=<5.

1. �D56D4M5=<5 >4=<E 65M5EF6 6 4DG7<5 =47O645FEO E<<<G5E>>=  D54>F<5= .
1.1. �7 ?D54EF46?5==OE =<65 D<EG=>>6 6O55D<F5 F>F, =4 >>F>D>< <7>5D465=> ?D>F5>4-
=<5 E<<<G5E>>=  D54>F<<. 

             

            $<E. 1             $<E. 2           $<E. 3 

�D>F5>4=<5 E<<<G5E>>= D54>F<< <7>5D465=> =4 D<EG=>5: .
�5NOE=<F5 E45?4==O= 64<< 6O5>D.

�F65F: 2.

�>OE=5=<5: 
�D>F5>4=<5 E<<<G5E>>= D54>F<< <7>5D465=> =4 D<E. 2, ?>F><G GF> 6 E>45 E7>D4=<O 
4D565E<=O ?>4 45=EF6<5< ><E?>D>44 ?D><EE>4<F >5D47>64=<5 =>6>7> 65M5EF64 4 G7?5-
><E?>7> 7474. �4<5D74=<5 6>4O (?5D5E>4 <7 6<4>>7> 6 F6UD4>5 47D574F=>5 E>EF>O=<5) 
< D<?LFD>64=<5 =5 O6?ONFEO E<<<G5E><<< ?D>F5EE4<<, F4> >4> E<<<G5E><5 E>54<=5=<O 
=5 ?D5F5D?564NF =<>4><E <7<5=5=<= 6 E>EF465.

��$ 8 >?4EE

2H2 + O2 = 2H2O

+

%<<<G5E><5 D54>F<<
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1.2. '>46<F5 >4<= �.���  ?D<7=4> ?D>F5>4=<O MF>=  E<<<G5E>>=  D54>F<<.

�F65F: 6O45?5=<5 F5??4.

2. �D56D4M5=<5 >4=<E 65M5EF6 6 4DG7<5 =47O645FEO E<<<G5E>>= D54>F<5=.
2.1. '>46<F5, >4>>= <7 ?D<654U==OE =<65 ?D>F5EE>6 O6?O5FEO E<<<G5E>>= D54>F<5=. 

1. $646?5=<5 <5F4??<G5E>>7> EF5D6=O.
2. �4><?4=<5 6>4O. 
3. �7D4=>4 4?<474.
�4?<L<F5 =><5D 6O5D4==>7> ?D>F5EE4: .
�5NOE=<F5 E45?4==O= 64<< 6O5>D.

�F65F: 1.

�5NOE=5=<5 >F65F4: 
� E>45 >><E?5=<O <5F4??4 ><E?>D>4>< 6> 6?46=>< 6>74GE5 >5D47G5FEO =>6>5 E>54<=5-
=<5 4 D646G<=4 (E<5L4==O= 7<4D>>E<4 65?574). �4><?4=<5 6>4O < >7D4=>4 4?<474 =5 
O6?ONFEO E<<<G5E><<< ?D>F5EE4<<, F4> >4> E<<<G5E><5 E>54<=5=<O =5 ?D5F5D?564NF 
=<>4><E <7<5=5=<= 6 E>EF465.

2.2. '>46<F5 >4<= �.���  ?D<7=4> ?D>F5>4=<O MF>= E<<<G5E>>= D54>F<<.

�F65F: <7<5=5=<5 F65F4.

3. �D56D4M5=<5 >4=<E 65M5EF6 6 4DG7<5 =47O645FEO E<<<G5E>>= D54>F<5=.
3.1. '>46<F5, >4>>= <7 ?D<654U==OE =<65 ?D>F5EE>6 O6?O5FEO E<<<G5E>>= D54>F<5=. 

1. $4EF6>D5=<5 E4E4D4 6 G4L>5 G4O.
2. �5D47>64=<5 =4><?< =4 G4==<>5.
3. �4><?4=<5 6>4O 6 G4==<>5.
�4?<L<F5 =><5D 6O5D4==>7> ?D>F5EE4: .
�5NOE=<F5 E45?4==O= 64<< 6O5>D.

�F65F: 2.

�>OE=5=<5:
�D>F5EE, ?D< >>F>D>< ?D>F5>45F E<<<G5E>4O D54>F<O, G>474= ?>4 ?G=>F>< 2, ?>F><G 
GF> ?D< =47D564=<< 6>4O D4EF6>DU==O5 E>?< >4?LF<O < <47=<O D47?474NFEO =4 G7?5-
><E?O= 747 < =5D4EF6>D<<O5 E>?<, 6O?444NM<5 6 >E44>>.
$4EF6>D5=<5 E4E4D4 6 G4L>5 G4O < 74><?4=<5 6>4O 6 G4==<>5 =5 O6?ONFEO E<<<G5-
E><<< ?D>F5EE4<<, F4> >4> E<<<G5E><5 E>54<=5=<O =5 ?D5F5D?564NF =<>4><E <7<5=5=<= 
6 E>EF465.

3.2. '>46<F5 >4<= �.��� ?D<7=4> ?D>F5>4=<O MF>= E<<<G5E>>= D54>F<<.

�F65F: >5D47>64=<5 >E44>4.

�5D6>=4G4?L=O5 E<<<G5E><5 ?>=OF<O
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&��$�&�'�%��� �%���/ 
%����

%>6D5<5==O5 ?D54EF46?5=<O > EFD>5=<< 
4F><4

�4L< 4=<

460 7. 4> =. M.

1897 7.

1911 7.

1913 7.

�D5G5E>4O <>45?L: F6UD4O= =545D>D<<-
DG5<O= L4D.

�>45?L &><E>=4 («E?<6>6O= ?G4<=7»): 
6 4F><5 (74DO4 «+») ??464NF � (74-
DO4 «3»).

�>45?L $575DD>D44: 6 F5=F D5 <4EE<6-
=>5 O4D> E 74DO4>< «+».

�?4=5F4D=4O <>45?L: � 46<6GFEO ?> >D-
5<F4< 6>>DG7 O4D4.

%>6D5<5==4O <>45?L: � 4 G4EF<F4-6>?=4.

÷ $476<F<5 ?D54EF46?5=<= > EFD>5=<< 4F><4

 �&��/, �����'�/ � ���/

�F>< 4 =4<<5=LL4O G4EF<F4 E<<<G5E>>-
7> M?5<5=F4, E>ED4=ONM4O 57> E<<<G5E><5 
E6>=EF64. -F> E<<<G5E>< =545?<<4O M?5>-
FD>=5=FD4?L=4O G4EF<F4, E>EF>OM4O <7 ?>-
?>6<F5?L=> 74DO65==>7> O4D4 < 46<6GM<EEO 
6>>DG7 =57> >FD<F4F5?L=> 74DO65==OE M?5>-
FD>=>6.

�>?5>G?4 4 <5?LG4=L4O G4EF<F4 65M5EF64, 
E?>E>5=4O EGM5EF6>64FL E4<>EF>OF5?L=>, E>-
ED4=ONM4O 57> E>EF46 < E<<<G5E><5 E6>=-
EF64.

 %4D4>F5D<EF<>< <>?5>G?O

ðþ �4G5EF65==O= E>EF46 (?>>47O645F, <7 >4-
><E 4F><>6 E>EF><F <>?5>G?4): <>?5>G?O 
6>4O < ?5D>>E<44 6>4>D>44 E>EF>OF <7 
4F><>6 � < �, 4 <>?5>G?4 G7?5><E?>7> 
7474 4 <7 4F><>6 % < �.

ðþ �>?<G5EF65==O= E>EF46 (?>>47O645F, 
E>>?L>> 4F><>6 >464>7> 6<44 E>45D6<FEO 
6 <>?5>G?5): <>?5>G?4 6>4O E>EF><F <7 
46GE 4F><>6 � < >4=>7> 4F><4 �, 4 <>-
?5>G?4 ?5D>>E<44 6>4>D>44 4 <7 46GE 
4F><>6 � < 46GE 4F><>6 �.

%>6D5<5==O5 ?D54EF46?5=<O >  EFD>5=<< 4F><4
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�D>F>=

-?5>FD>=

�4EE4 M?5>F D>=4 6 1836 D47 <5=LL5 <4E-
EO ?D>F>=4.

÷ �>45?L 4F><4

-?5>FD>= 4 � 
�4DO4 31, <4EE4 1/1836 4. 5. <.

�D>F>= 4 D 

�4DO4 +1, <4EE4 1 4. 5. <.

/4D> (?>?>6<F5?L=> 74DO65=>)

�5=FD>= 4 n 
�4DO4 0, <4EE4 1 4. 5. <. $47<5DO 4F><>6 >>?55?NFEO >F 1 · 10310 

4> 5 · 10310 <.

ü

�E?< <765EF=> EFD>5=<5 65M5EF64, F> 
<>6=> ?D54E>474FL 57> E6>=EF64.

ü

&5>D5F<G5E><5 >E=>6O E<<<<

 �$�%&����'�%��/ $�,�&�� 
��-�%&��

�D<EF4??<G5E>4O D5LUF>4 65M5EF64 4 
G?>DO4>G5==>5 D4E?>?>65=<5 G4EF<F (4F><>6, 
<>?5>G?, <>=>6) 6 EFD>7> >?D545?U==OE F>G-
>4E ?D>EFD4=EF64. '7?O D5LUF>< 4 F>G><, 
6 >>F>DOE D47<5M5=O G4EF<FO >D<EF4??4.

 &<?O D5LUF>>

�>==4O D5LUF>4 E?>D<44 =4FD<O NaCl

�
>

=
=

4
O

�>=O.

�>==4O E6O7L.

&G7>??46><5, G4M5 6E57> E>D>L> D4EF6>D<<O 6 6>45, F6UD4O5, 
EDG?><5. $4EF6>DO < D4E??46O ?D>6>4OF M?5>FD<G5E><= F>>.

Na+ Cl3

�>?5>G?OD=4O D5LUF>4 EGE>7> ?L44 CO2

�
>

?
5

>
G

?
O

D
=

4
O

�>?5>G?O.

�564G G7?4<< D5LUF>< <56<>?5>G?OD=O5 674-
<<>45=EF6<O, 6=GFD< <>?5>G? 4 >>64?5=F=O5 
E6O7<.

�<7><5 t?? < t><?, EDG?><5. -?5>FD>?D>6>4=>EFL 
< E?>E>5=>EFL D4EF6>DOFLEO 6 6>45 746<EOF >F 
>?4EE4 65M5EF64.

C
�

�
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 %���'�%��� -�����&, 
�$�%&/� � %����/� ��-�%&��

%<<<G5E><= M?5<5=F 4 E>6>>G?=>EFL 4F>-
<>6 E >4<=4>>6O< >>?<G5EF6>< M?5>FD>=>6 
(>4<=4>>6O< 74DO4>< O45D). �464O= E<<<G5-
E><= M?5<5=F <<55F =4764=<5 < >5>7=4G45FEO 
E<<6>?>< <?< E<<<G5E><< 7=4>><. %<<6>? 
E<<<G5E>>7> M?5<5=F4 E>EF><F <7 >4=>= <?< 
46GE 5G>6. �4> ?D46<?>, <E?>?L7GNFEO ?5D-
6O5 5G>6O ?4F<=E>>7> =4764=<O M?5<5=F4.

�>DO4>>6O= =><5D M?5<5=F4 (N), <?< 74-
DO4>6>5 (?D>F>==>5) G<E?> Z, ?>>47O645F, 
E>>?L>> M?5>FD>=>6 < ?D>F>=>6 =4E>4<FEO 
6 4F><5. �>?<G5EF6> M?5>FD>=>6 D46=> >>?<-
G5EF6G ?D>F>=>6.

�D< E>54<=5=<< 4DG7 E 4DG7>< 4F><>6 >4=>-
7> < F>7> 65 M?5<5=F4 >5D47G5FEO ?D>EF>5 
65M5EF6>.

�4 ?D<<5D5 ?D<654U==>= =<65 F45?<FO 6<4-
=>, >4><5 E4D4>F5D<EF<>< >?<EO64NF M?5<5=F, 
4 >4><5 4 65M5EF6>.

%<<<G5E><= M?5<5=F �D>EF>5 65M5EF6>

�>DO4>>6O= =><5D
�>?>65=<5 6 �5D<>4<G5E>>= E<EF5<5 
E<<<G5E><E M?5<5=F>6
%FD>5=<5 4F><4, M?5>FD>==4O >>=D<7GD4F<O
�7>F>?=O= E>EF46
�??>FD>?=O5 <>4<D<>4F<<
$44<GE 4F><4
$4E?D>EFD4=U==>EFL =4 �5<?5 (<4EE>64O 
4>?O)
%>45D64=<5 6 ?D>4G>F4E ?<F4=<O, 6<6OE 
>D74=<7<4E, <<=5D4?4E
�4EE>64O 4>?O 6 E>54<=5=<OE
�4?5=F=>EFL
%F5?5=L >><E?5=<O
-?5>FD>>FD<F4F5?L=>EFL
�4764=<5 E>54<=5=<=

&65F, 6>GE, 74?4E
�7D574F=>5 E>EF>O=<5
%<<<G5E><5 E6>=EF64
%?>E>5O ?>?GG5=<O
�D<<5=5=<5
&5<?5D4FGDO ><?5=<O < ??46?5=<O
�D<EF4??<G5E>4O D5LUF>4
-?5>FD>- < F5??>?D>6>4=>EFL
&6UD4>EFL
$4EF6>D<<>EFL
%>45D64=<5 6 E<5E<, E??465 (<4EE>64O 
4>?O)
�47=<F=O5 E6>=EF64
�4EE4, >5NU<
�?>F=>EFL

%>6D5<5==O5 ?D54EF46?5=<O >  EFD>5=<< 4F><4

�5F4??<G5E>4O D5LUF>4 65?574 Fe

�
5

F
4

?
?

<
G

5
E

>
4

O

�F><O, >4F<>=O <5F4??>6.

�5F4??<G5E>4O E6O7L.

&6UD4O5, ?D>G=O5, >>6><5, ??4EF<G=O5, 
E>D>L<5 ?D>6>4=<>< F5??4 < M?5>FD<-
G5EF64.

�F><=4O D5LUF>4 4?<474 %
�

F
>

<
=

4
O

�F><O.

�>64?5=F=4O E6O7L.

�5D4EF6>D<<O 6 6>45, <<5NF >G5=L 6OE>>GN t??, F6UD4O5 
< ?D>G=O5, =5 ?D>6>4OF M?5>FD<G5E><= F>>. %<<<G5E>< <4?>-
4>F<6=O.

%
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%?>6=>5 65M5EF6> 4 65M5EF6>, E>EF>OM55 
<7 4F><>6 D47=OE E<<<G5E><E M?5<5=F>6.

 %���'�%��/ $�$�'��

%<<<G5E>4O D>D<G?4 65M5EF64 4 GE?>6-
=4O 74?<EL 65M5EF64, >FD464NM4O 57> >4G5-
EF65==O= < >>?<G5EF65==O= E>EF46. 

�=45>E 4 F<DD4, =4E>4OM4OEO E?D4-
64 6=<7G E<<6>?4 E<<<G5E>>7> M?5<5=F4, 
>5>7=4G4 NM4O G<E?> 4F><>6 MF>7> M?5<5=F4 
6 E<<<G5E>>= D>D<G?5 65M5EF64.

%<<6>?O E<<<G5E><E M?5<5=F>6 ?>>47O64NF, 
<7 >4><E 4F><>6 E>EF><F 65M5EF6> (57> >4G5-
EF65==O= E>EF46), 4 <=45>EO G>47O64NF G<E-
?> 4F><>6 E<<<G5E><E M?5<5=F>6 6 65M5EF65 
(57> >>?<G5EF65==O= E>EF46).

�=45>E 1 6 E<<<G5E>>= D>D<G?5 =5 ?<-
L5FEO. �E?< 6 D>D<G?5 74?<E4= 7=4> 
E<<<G5E>>7> M?5<5=F4 557 <=45>E4, 7=4-
G<F 6 G4EF<F5 65M5EF64 E>45D6<FEO 
>4<= 4F>< 44==>7> M?5<5=F4.

!

�>6F>DONM<5EO 7DG??O 4F><>6 6 D>D<G?5 
74>?NG4NF 6 E>>5><.

�
>

?<
G5

EF
6>

�
4D

O4
 

O4
D

4�
>

?<
G5

EF
6>

�
>

?<
G5

EF
6>

�
4E

E>
6>

5
 

G<
E?

>

�

�

p

n0 A

N=

+ =

= =

%<<6>? M?5<5=F4

�4764=<5 M?5<5=F4

�F=>E<F5?L=4O 4F><=4O <4EE4

�>DO4>>6O= =><5D (N)

Li 3
6,939

�<F<=

�>MDD<F<5=F 4 F<DD4 6 E<<<G5E>>= 74?<-
E<, >>F>D4O EF46<FEO ?5D54 D>D<G?>= < ?>-
>47O645F G<E?> >F45?L=OE 4F><>6, <>?5>G? 
<?< D>D<G?L=OE 54<=<F.

%<<<G5E><5 D>D<G?O 65M5EF6 <>?5>G?OD=>7> 
EFD>5=<O ?>>47O64NF E>EF46 <>?5>G?. -F> 
<>?5>G?OD=O5 D>D<G?O.

 ����� ��%&�/�%&�� %�%&���

�4>>= 5O? >F>DOF DD4=FG7E><< E<<<>>< 
�. �. �DGEF>< (179941809 77.).

%>6D5<5==4O D>D<G?<D>6>4 74>>=4: 6EO-
>>5 G<EF>5 65M5EF6> <>?5>G?OD=>7> EFD>5=<O 
=5746<E<<> >F <5EF4 =4E>645=<O < E?>E>54 
?>?GG5=<O <<55F ?>EF>O==O= >4G5EF65==O= 
< >>?<G5EF65==O= E>EF46.

�4>>= =5 O6?O5FEO 6E5>5M<<. �= E?D4-
654?<6 F>?L>> 4?O 65M5EF6, <<5NM<E 
<>?5>G?OD=>5 EFD>5=<5. %>EF46 65M5EF6 
=5<>?5>G?OD=>7> EFD>5=<O G4EF> 746<E<F 
>F E?>E>54 <E ?>?GG5=<O.

!

 �&��%�&��,��/ �&����/ 
��%%�

�F><O E<<<G5E><E M?5<5=F>6 D47?<G4NFEO 
E6><<< <4EE4<<. �4EE4 4F><4 >5>7=4G45FEO 
E<<6>?>< ma < 6OD4645FEO 6 54<=<F4E <4E-
EO (>7 <?< 7).

�F=>E<F5?L=4O 4F><=4O <4EE4 4 >F=>L5-
=<5 <4EEO 4F><4 > 4F><=>= 54<=<F5 <4EEO.

�4 4F><=GN 54<=<FG <4EEO 6O5D4=4 
1/12 G4EFL <4EEO 4F><4 G7?5D>44. -F4 54<-
=<F4 >5>7=4G45FEO 5G>6>= u.

 

a a
24

( ) ( )
( )r 1 1,66 10

m X m X
A X

u uýý ý
÷

 ���/$��/ ��%%� ��-�%&��

�>?OD=4O <4EE4 65M5EF64 (�) 4 <4EE4 
1 <>?O 65M5EF64 (7/<>?L). �>?OD=4O <4E-
E4 � 65M5EF64 D46=4 >F=>L5=<N <4EEO MF>-
7> 65M5EF64 m > 57> >>?<G5EF6G n:

M =
m

n
.

&5>D5F<G5E><5 >E=>6O E<<<<
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% ?><>MLN G<E?4 �6>744D> ?> <765EF=><G 
E<<<G5E>><G >>?<G5EF6G <>6=> >?D545?<FL 
G<E?> G4EF<F 6 57> ?>DF<<.

N = n · 6,02 · 1023 = n · NA

�E?< 7=4FL G<E?> �6>744D>, F> ?D< <765EF-
=>< G<E?5 G4EF<F (N) <>6=> 6OG<E?<FL >>-
?<G5EF6> 65M5EF64:

n = 
A

N

N
.

%<<<G5E>>5 >>?<G5EF6> 4F><>6 M?5<5=-
F4 6 1 <>?L 65M5EF64 D46=> G<E?G 57> 
4F><>6, E>45D64M<EEO 6 <>?5>G?5 <?< 
D>D<G?L=>= 54<=<F5 44==>7> 65M5EF64.

!

 %?54EF6<5 1

�4<=4>>6>5 G<E?> <>?5>G? D47?<G=OE 747>6 
?D< >4<=4>>6OE GE?>6<OE (D, &) 74=<<45F 
>4<=4>>6O= >5NU<.

�>?OD=O= >5NU< 7474 (V
m

) 4 >5NU<, >>-
F>DO= 74=<<45F 1 <>?L MF>7> 7474 ?D< =>D-
<4?L=OE GE?>6<OE. 

�>D<4?L=O5 GE?>6<O (=. G.) 4?O 747>6: 
446?5=<5 1,013 · 105 �4, F5<?5D4FGD4 273 �.

 %?54EF6<5 2

�D< =>D<4?L=OE GE?>6<OE (T = 273 K, D = 
= 1 4F< (101,3 >�4)) 1 <>?L ?N5>7> 7474 
74=<<45F >5NU< 22,4 ?. �>?OD=O= >5NU< 
?N5>7> 7474 ?D< =>D<4?L=OE GE?>6<OE 4 
22,4 ?/<>?L.

�>?OD=O= >5NU< 7474 V
m

 4 65?<G<=4, D46-
=4O >F=>L5=<N >5NU<4 >?D545?U==>= ?>D-
F<< 7474 V(X) > >>?<G5EF6G 65M5EF64 n(X) 
MF>= ?>DF<< 7474: 

V
m 

= 
(X)

(X)

V

n
, >F>G44 n(%) = 

(X)

m

V

V
,

745 n(X) 4 >>?<G5EF6> 65M5EF64 X, <>?L; 
V(X) 4 >5NU< 7474 X (=. G.), ?; 
V

m
 4 <>?OD=O= >5NU< 7474 X, ?/<>?L.

$>D<G?O 74>>=4 �6>744D> D45>F4NF 
F>?L>> 4?O 747>>5D47=OE 65M5EF6. 

!

�4EE4 1 <>?O 65M5EF64 G<E?5==> D46=4 57> 
>F=>E<F5?L=>= <>?5>G?OD=>= <?< >F=>E<F5?L-
=>= 4F><=>= <4EE5, >4=4>> ?5D64O 65?<-
G<=4 <<55F D47<5D=>EFL 7/<>?L, 4 465 
4DG7<5 4 557D47<5D=O5:

|M| = |Mr|;    |M| = |�r|.

 ��%%���/ ���/ 

�4EE>64O 4>?O (÷) 4 G<E?> 7D4<<>6 D4E-
F6>DU==>7> 65M5EF64 6 100 7 D4E F6>D4. 

�4?D<<5D, D>D<4 74?<E< «D4EF6>D NaCl 
E <4EE>6>= 4>?5= ÷(NaCl) = 25 %» >7=4G45F, 
GF> 25 7 NaCl E>45D6<FEO 6 100 7 D4EF6>D4. 
�4EE4 6>4O 6 =U< D46=4 75 7.

�4EE>64O 4>?O D4EF6>DU==>7> 65M5EF64 
÷(%) 4 557D47<5D=4O 65?<G<=4, >>F>D4O D46-
=4 >F=>L5=<N <4EEO 65M5EF64 m(%) > <4EE5 
D4EF6>D4 m(D-D4): 

÷(%) = 
m(X)

m(p-pa)
,

745 m(D-D4) = m(%) + m(D4EF6>D<F5?O). 

�4EE>6GN 4>?N 6OD464NF 6 4>?OE 54<=<FO 
<?< 6 ?D>F5=F4E. 

 ����� ������$�. 
%���%&��/  1, 2 �� ������ 

������$�

 �4>>= �6>744D>

$>D<G?<D>6>4 74>>=4: 6 D46=OE >5N-
U<4E (V) D47?<G=OE 747>6 ?D< >4<=4>>6OE 
GE?>6<OE (F5<?5D4FGD5 & < 446?5=<< D) E>-
45D6<FEO >4<=4>>6>5 G<E?> <>?5>G?.

�4>>= �6>744D> 5O? ED>D<G?<D>64= <F4?LO=-
E><< E<<<>>< �<545> �6>744D> 6 1811 7. 
�5D6>=4G4?L=> 74>>= 5O? ?<LL 7<?>F57>= 
GGU=>7>, => ?>765 MF4 7<?>F574 5O?4 ?>4-
F65D645=4 M>E?5D<<5=F4?L=>, ?>E?5 G57> 
< 6>L?4 6 =4G>G ?>4 =4764=<5< «74>>= �6>-
744D>».

% ?><>MLN 74>>=4 �6>744D> <>6=> =4=F< 
>F=>E<F5?L=GN ??>F=>EFL 46GE 747>6.

�>EF>O==4O �6>744D> 4 D<7<G5E>4O 65?<-
G<=4, >>F>D4O ?>>47O645F, >4>>5 G<E?> <>?5-
>G? E>45D6<FEO 6 1 <>?L ?N5>7> 65M5EF64. 

N� = 6,02 · 1023 <>?L31

%>6D5<5==O5 ?D54EF46?5=<O >  EFD>5=<< 4F><4
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1. � F45?<F5 ?D<6545=O =4764=<O < E<<<G5E><5 D>D<G?O =5>>F>DOE 747>>5D47=OE 65-
M5EF6. 

7 ?/? �4764=<5 65M5EF64 $>D<G?4 �>?OD=4O <4EE4, 7/<>?L

1 %5D>6>4>D>4 H2S

2 %?>D Cl2

3 �<<<4> NH3

1.1. �E?>?L7GO ?D54?>65==O5 64< E?D46>G=O5 <4F5D<4?O, 6OG<E?<F5 <>?OD=O5 <4EEO 
>464>7> <7 747>6 < 74?<L<F5 ?>?GG5==O5 44==O5 6 F45?<FG. 

$5L5=<5:
M(H2S) = 2 · 1 7/<>?L + 32 7/<>?L = 34 7/<>?L.
M(Cl2) = 2 · 35,5 7/<>?L = 71 7/<>?L.
M(NH3) = 14 7/<>?L + 3 · 1 7/<>?L = 17 7/<>?L.

�F65F: 
M(H2S) = 34 7/<>?L.
M(Cl2) = 71 7/<>?L.
M(NH3) = 17 7/<>?L.

1.2. �4><< <7 ?D<654U ==OE 6 F45?<F5 747>6 E?54G5F =4?>?=<FL L4D<> E ?D4>F<G5E>< 
=565E><>=  >5>?>G>>= , GF>5O >= >>474?EO ?57G5 6>74GE4 < E<>7 67?5F5FL? (%D54=OO <>-
?OD=4O <4EE4 6>74GE4 D46=4 29 7/<>?L.) '>46<F5 =><5D 65M5EF64. 
�5NOE=<F5 E6>=  6O5>D. 

�F65F: 3. 
�5NOE=5=<5 >F65F4: 
�4?>?=<FL L4D<> =G6=> 4<<<4>>< (747 7 3), ?>F><G >4> 4<<<4> ?57G5 6>74GE4: 
M(NH3) < M(6>74GE4).

2. � F45?<F5 ?D<6545=O =4764=<O < E<<<G5E><5 D>D<G?O =5>>F>DOE 65M5EF6.

7 ?/? �4764=<5 65M5EF64 $>D<G?4 �4EE4, 7

1 %?>D<4 54D<O BaCl2

2 %5D=4O ><E?>F4 H2SO4

3 �<4D>>E>>4D5>=4F <54<(II) (CuOH)2CO3

2.1. �E?>?L7GO ?D54?>65==O5 64< E?D46>G=O5 <4F5D<4?O, 6OG<E?<F5 <4EEG 1 <>?L 
>464>7> <7 65M5EF6 < 74?<L<F5 ?>?GG5==O5 44==O5 6 F45?<FG.

$5L5=<5:
m(BaCl2) = 1 <>?L · (137 7/<>?L + 35,5 7/<>?L · 2) = 208 7.
m(H2SO4) = 1 <>?L · (2 · 1 7/<>?L + 32 7/<>?L + 4 · 16 7/<>?L) = 98 7.

��$ 8 >?4EE
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m((CuOH)2CO3) = 1 <>?L · (64 7/<>?L · 2 + 16 7/<>?L · 5 + 2 · 1 7/<>?L + 
+ 12 7/<>?L) = 222 7.

�F65F: m(BaCl2) = 208 7; m(H2SO4) = 98 7; m((CuOH)2CO3) = 222 7.

2.2. �4>>5 <7 65M5EF6 6 >>?<G5EF65 1 <>?L 65E<F EF>?L>> 65, E>>?L>> 1 <>?L H3PO4? 
'>46<F5 =><5D 65M5EF64.

$5L5=<5:
1 <>?L H3PO4 65E<F 98 7, GF> D46=> 98 7 H2SO4, E?54>64F5?L=>, G4L4 65E>6 GD46=>-
65E<FEO.

�F65F: 2.

3. �>EL<<>?4EE=<F4 �4FO 6O?<?4 =4 746FD4> >4<= EF4>4= (250 7) 4?5?LE<=>6>7> E>>4.
3.1. �E?>?L7GO 44==O5 ?D<654U==>= =<65 F45?<FO, >?D545?<F5, >4>GN <4EEG G7?56>4>6 
?>?GG<? ?D< MF>< >D74=<7< 456GL><. �F65F ?>4F65D4<F5 D4EGUF><. 

�4EE>64O 4>?O (��) G7?56>4>6 6 =5>>F>DOE E>>4E

%>> �<<>==O= /5?>G=O= �?5?LE<=>6O= �D4=4F>6O= %?<6>6O=

�� G7?56>4>6, % 2,5 9,1 12,8 14,5 16,1

$5L5=<5:
�OG<E?<<: m(G7?56>4>6) = 250 · 12,8 / 100 = 32 7.

�F65F: 32 7.

3.2. �4>GN 4>?N EGF>G=>= D<7<>?>7<G5E>>= =>D<O (400 7) E>EF46?O5F ?>FD55?U==>5 
�4F5= >>?<G5EF6> G7?56>4>6? �F65F ?>4F65D4<F5 D4EGUF><.

$5L5=<5:
�OG<E?<<: a = 32 / 400 · 100 % = 8 %.

�F65F: 8 %.

4. �F>D>>?4EE=<> �4=O =4 746FD4> EN5? 464 >GD<=OE O=F4 (>464>5 ?> 50 7) < 5GF5D-
5D>4 E> E7GMU==O< <>?>>>< (25 7 E?554 < 8 7 E7GMU==>7> <>?>>4). 
4.1. �E?>?L7GO 44==O5 ?D<654U==>= =<65 F45?<FO, >?D545?<F5, >4>GN <4EEG 6<D>6 ?>-
?GG<? ?D< MF>< >D74=<7< �4=<. �F65F ?>4F65D4<F5 D4EGUF><.

�4EE>64O 4>?O (��) 6<D>6 6 =5>>F>DOE ?D>4G>F4E

�D>4G>F $<?5 /=F> �>?>>> E7GM. %?55 %<5F4=4

�� 6<D>6, % 1,9 11,5 8,3 1,0 20,0
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$5L5=<5:
�OG<E?<<: m(6<D>6) = 2 · 50 · 11,5 / 100 + 25 · 1,0 / 100 + 8 · 8,3 / 100 = 
= 12,414 7.

�F65F: 12,414 7.

4.2. �4>GN 4>?N EGF>G=>= D<7<>?>7<G5E>>= =>D<O (70 7) E>EF46?O5F ?>FD55?U==>5 �4-
=5= >>?<G5EF6> 6<D>6? �F65F ?>4F65D4<F5 D4EGUF><. �F65F >>DG7?<F5 4> E>FOE ?D>-
F5=F4.

$5L5=<5:
�OG<E?<<: a = 12,414 / 70 · 100 % = 17,73 %.

�F65F: 17,73 %.

5. �<55FEO E?54GNM<= ?5D5G5=L E<<<G5E><E 65M5EF6: 47>F, E5D4, 65?57>, 47>F=4O ><E-
?>F4, E?>D<4 <47=<O, EG?LD<4 4<<>=<O, 7<4D>>E<4 >4?<O. �E?>?L7GO MF>F ?5D5G5=L, 6O-
?>?=<F5 7444=<O. 
5.1. �7 ?D<654U ==>7> ?5D5G=O 65M5EF6 6O55D<F5 �.��� E>54<=5=<5, E>EF>OM55 <7 
4F><>6 &$�% M?5<5=F>6. �OG<E?<F5 <4EE>6GN 4>?N 6>4>D>44 6 MF>< E>54<=5=<<.
�5M5EF6> 4 __________________________. 

$5L5=<5:
�5M5EF64, E>EF>OM<5 <7 4F><>6 FDUE M?5<5=F>6: 47>F=4O ><E?>F4, EG?LD<4 4<<>=<O, 
7<4 D>>E<4 >4?<O. 
1. �E?< 6O5D4=4 47>F=4O ><E?>F4, F> w(H 6 HNO3) = 1 / (1 + 14 + 3 · 16) ô 
ôð 100 % = 1,59 %.
2. �E?< 6O5D4= EG?LD<4 4<<>=<O, F> w(H 6 (NH4)2S) = (8 · 1) / (14 · 2 + 8 · 1 + 
+ 32) · 100 % = 11,76 %.
3. �E?< 6O5D4= 7<4D>>E<4 >4?<O, F> w(H 6 KOH) = 1 / (39 + 16 + 1) · 100 % =  
= 1,79 %.

5.2. �OG<E?<F5 <4EEG 3 <>?L 47>F=>= ><E?>FO. 

$5L5=<5:
�OG<E?<<: m(HNO3) = n · M = 3 <>?L · (1 7/<>?L + 14 7/<>?L + 3 · 16 7/<>?L) = 
= 189 7.

�F65F: 189 7.

1. �O55D<F5 464 6OE>47O64=<O, 6 >>F>DOE 7>6>D<FEO > =4FD<< >4> > E<<<G5E>>< 
M?5<5=F5.
1) �4FD<= 6 E>54<=5=<OE ?D>O6?O5F EF5?5=L >><E?5=<O +1.
2) �4FD<= <E?>?L7G5FEO 6 ?D><OL?5==>EF< 4?O ?>?GG5=<O <5=55 4>F<6=OE <5F4??>6.
3) �4FD<= =5>5E>4<<> ED4=<FL ?>4 E?>5< >5D>E<=4, GF>5O <75564FL 57> >><E?5=<O.
4) �D< M?5>FD>?<75 D4E??464 ?>64D5==>= E>?< =4 >4F>45 6O45?O5FEO =4FD<=.
5) �4FD<= =4E>4<FEO 6> 2-< ?5D<>45.

��- 9 >?4EE
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�4?<L<F5 =><5D4 6O5D4==OE >F65F>6.

�F65F: 1 5

%4D4>F5D<EF<>< E<<<G5E>>7> M?5<5=F4: ?>DO4>>6O= =><5D, EFD>-
5=<5 4F><4, M?5>FD>==4O >>=D<7GD4F<O, ?>?>65=<5 6 �5D<>4<-
G5E>>= E<EF5<5, D4E?D>EFD4=U==>EFL 6 ?D<D>45, 64?5=F=>EFL, 
EF5?5=L >><E?5=<O, D44<GE 4F><4, M?5>FD>>FD<F4F5?L=>EFL < 4D.

ü

%4D4>F5D<EF<>< ?D>EF>7> 65M5EF64: E<<<G5E><5 E6>=EF64, 
E?>E>5O ?>?GG5=<O, F65F, 74?4E, 6>GE, F5??>- < M?5>FD>?D>-
6>4=>EFL, F5<?5D4FGDO D47>6OE ?5D5E>4>6, >D<EF4??<G5E><5 
D5LUF>< < 4D. 

ü

�>OE=5=<5: 
1) %F5?5=L >><E?5=<O 4 E4D4>F5D<EF<>4 M?5<5=F4. 
2) %?>E>5 ?>?GG5=<O 4 E4D4>F5D<EF<>4 65M5EF64.
3) %<<<G5E><5 E6>=EF64 4 E4D4>F5D<EF<>4 65M5EF64.
4) %?>E>5 ?>?GG5=<O 4 E4D4>F5D<EF<>4 65M5EF64.
5) �4E>645=<5 6 �5D<>4<G5E>>= E<EF5<5 E<<<G5E><E M?5<5=F>6 4 E4D4>F5D<EF<>4 M?5-
<5=F4.
� >F65F5 74?<EO645< F<DDO 1 < 5.

2. �O55D<F5 464 6OE>47O64=<O, 6 >>F>DOE 7>6>D<FEO > E5D5 >4> > ?D>EF>< 65M5EF65.
1) %5D4 7>D<F =4 6>74GE5, >5D47G5FEO >>E<4 SO2.
2) %5D4 <<55F M?5>FD>==GN >>=D<7GD4F<N 6=5L=57> E?>O 3s23p4.
3) %5D4 6E>4<F 6 E>EF46 =5>>F>DOE 4<<=>><E?>F.
4) $><5<G5E>4O E5D4 <<55F <>?5>G?OD=GN >D<EF4??<G5E>GN D5LUF>G.
5) %5D4 EGM5EF6G5F 6 FDUE 4??>FD>?=OE <>4<D<>4F<OE.
�4?<L<F5 =><5D4 6O5D4==OE >F65F>6.

�F65F: 1 4

�>OE=5=<5: 
1) %<<<G5E><5 E6>=EF64 4 E4D4>F5D<EF<>4 65M5EF64. 
2) %FD>5=<5 4F><4 4 E4D4>F5D<EF<>4 M?5<5=F4. 
3) %>45D64=<5 6 E?>6=OE 65M5EF64E 4 E4D4>F5D<EF<>4 M?5<5=F4.
4) &<? >D<EF4??<G5E>>= D5LUF>< 4 E4D4>F5D<EF<>4 65M5EF64.
5) �??>FD>?=O5 <>4<D<>4F<< 4 E4D4>F5D<EF<>4 M?5<5=F4.
� >F65F5 74?<EO645< F<DDO 1 < 4.
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3. �O55D<F5 464 6OE>47O64=<O, 6 >>F>DOE 7>6>D<FEO > 65?575 >4> > E<<<G5E>>< M?5-
<5=F5.
1) �5?57> =4E>4<FEO 6 VIII 7DG??5 �5D<>4<G5E>>= E<EF5<O �. �. �5=45?5564.
2) �5?57>, >4> < 6E5 <5F4??O, <<55F <5F4??<G5E><= 5?5E>.
3) �5?57> 6E>4<F 6 E>EF46 <=>7<E E??46>6, =4?D<<5D EF4?< < GG7G=4.ð
4) �5?57> E>45D6<FEO 6 O5?>>4E, L?<=4F5 < G5G56<F5.
5) �=>7<5 ?D54<5FO, >>F>DO5 =4E >>DG64NF, E45?4=O <7 65?574.
�4?<L<F5 =><5D4 6O5D4==OE >F65F>6.

�F65F: 1 4

�>OE=5=<5:
1) �5?57> =4E>4<FEO 6 VIII 7DG??5 �5D<>4<G5E>>= E<EF5<O �. �. �5=45?5564. 4 �>-
?>65=<5 6 �5D<>4<G5E>>= E<EF5<5 4 E4D4>F5D<EF<>4 M?5<5=F4, 4 =5 65M5EF64. 
2) �5?57>, >4> < 6E5 <5F4??O, <<55F <5F4??<G5E><= 5?5E>. 4 � 6OE>47O64=<< E>45D-
6<FEO >?<E4=<5 D<7<G5E><E E6>=EF6, >>F>DO5 E4D4>F5D=O <E>?NG<F5?L=> 4?O 65M5EF6.
3) �5?57> 6E>4<F 6 E>EF46 <=>7<E E??46>6, =4?D<<5D EF4?< < GG7G=4. 4 � 6OE>47O-
64=<< 7>6>D<FEO > =4E>645=<< 65M5EF64 6 E>EF465 E<5E< (E??464). 
4) �5?57> E>45D6<FEO 6 O5?>>4E, L?<=4F5 < G5G56<F5. 4 � ?D>4G>F4E ?<F4=<O E>45D-
64FEO E?>6=O5 65M5EF64, 6 E>EF46 >>F>DOE 6E>4<F M?5<5=F 65?57>. 
5) �=>7<5 ?D54<5FO, >>F>DO5 =4E >>DG64NF, E45?4=O <7 65?574. 4 $<7<G5E><5 F5?4 
(?D54<5FO) E>EF>OF <7 65M5EF64 65?574. � 44==>< >>=F5>EF5 D5GL <4UF > 65?575 >4> 
> 65M5EF65. 
�F4>, 6 >F65F5 74?<EO645< F<DDO 1 < 4.

4. �OG<E?<F5 6 ?D>F5=F4E <4EE>6GN 4>?N D>ED>D4 6 7<4D>D>ED4F5 =4FD<O. �4?<L<F5 
G<E?> E F>G=>EFLN 4> F5?OE.

�F65F: 22.

�>OE=5=<5:
$>D<G?4 7<4D>D>ED4F4 =4FD<O 4 Na2HPO4. �>E?>?L7G5<EO D>D<G?>= 4?O D4EGUF4 <4E-
E>6>= 4>?< M?5<5=F4 6 E>54<=5=<<:

ø ù ø ù
ø ù
r

r

M?5<5=F4
M?5<5=F4 100 %.

65M5EF64

n A

M

÷
÷ ý ÷

ø ù ø ù ø ù ø ù ø ùr 2 4 r r r rNa HPO Na 2 H P O 4.M A A A Aý ý ÷ û û û ÷

ø ù 31
P 100 % 21,8 %.

23 2 1 31 16 4
÷ ý ÷ ý

÷ û û û ÷
� >F65F5 74?<EO645< 22.



21%>6D5<5==O5 ?D54EF46?5=<O >  EFD>5=<< 4F><4

5. �4 >4>>= 4<47D4<<5 D4E?D545?5=<5 <4EE>6OE 4>?5= M?5<5=F>6 E>>F65FEF6G5F >>?<G5-
EF65==><G E>EF46G 7<4D>>4D5>=4F4 4<<>=<O?

1) 3)

40,0   %

15,2   %

12,5   %

17,7   %

8,3   %

6,3   %39,2   %

60,8   %

2) 4)

5,1  %

6,3   %

16,7   %

16,7   %

22,6   %

61,5   %

40,9   %

30,2   %

�F65F: 3

�>OE=5=<5:
$>D<G?4 7<4D>>4D5>=4F4 4<<>=<O 4 NH4HCO3. 
$>D<G?4 4?O D4EGUF4 <4EE>6>= 4>?< M?5<5=F4 6 E>54<=5=<<:

ø ù ø ù
ø ù
r

r

M?5<5=F4
M?5<5=F4 100 %.

65M5EF64

n A

M

÷
÷ ý ÷

ø ù ø ù ø ù ø ù ø ùr 4 3 r r r rNH HCO N H 5 C O 3.M A A A Aý ý û ÷ û û ÷

ø ù 14
N 100 % 17,7 %.

14 5 12 16 3
÷ ý ÷ ý

û û û ÷

5 1
(H) 100 % 6,3 %.

14 5 12 16 3
÷÷ ý ÷ ý

û û û ÷

ø ù 12
C 100 % 15,2 %.

14 5 12 16 3
÷ ý ÷ ý

û û û ÷

 ø ù 16 3
O 100 % 60,8 %.

14 5 12 16 3
÷÷ ý ÷ ý

û û û ÷

�>?GG5==O5 G<E?4 E>>F65FEF6GNF 44==O<, ?D<654U==O< =4 4<47 D4< <5 3. 
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 �����&��%&, � %&����, 
���%����/

 �4?5=F=>EFL

�4?5=F=>EFL 4 MF> E?>E>5=>EFL 4F><4 >5-
D47>6O64FL >>64?5=F=O5 E<<<G5E><5 E6O7<. 
�4?5=F=>EFL 6OD4645FEO =55>?LL<<< F5?O-
<< G<E?4<<, >5>7=4G45FEO >5OG=> D<<E><<< 
F<DD4<<.

�4?5=F=>EFL >?D545?ONF ?> G<E?G E6O75=, 
>>F>DO5 >4<= 4F>< >5D47G5F E 4DG7<<<. 
�?O >?D545?5=<O 64?5=F=>EF< =G6=> E>D>L> 
?D54EF46?OFL 7D4D<G5E><5 D>D<G?O 65M5EF6.

�>?<G5EF6> E6O75=, >>F>DO5 >5D47G5F 
4F><, D46=> 64?5=F =>EF<. 

$4755DU< MF> =4 ?D<<5D5 E5D=>= ><E?>-
FO H2SO4.

H4O4S4O4H

O

O

�4?5=F=>EFL E5DO 4 VI (6 >>64?5=F-
=OE E6O75=), 64?5=F=>EFL >464>7> 4F><4 
><E?>D>44 4 II (2 >>64?5=F=O5 E6O7<), 
64?5=F=>EFL 4F><>6 6>4>D>44 4 I (1 >>-
64?5=F=4O E6O7L).

%<<<G5E><5 M?5<5=FO 
E ?>EF>O==>= 64?5=F=>EFLN

%<<<G5E><5 M?5<5=FO 
E ?5D5<5==>= 64?5=F=>EFLN

-?5<5=F �4?5=F=>EFL -?5<5=F �4?5=F=>EFL

H I
O II, III 

 Cl, Br, I I, III, IV, V, VII

F I
N  II, III, IV 

P III, V

Li, K, Na, Rb, Cs I
S II, IV, VI

C, Si III, IV

Be, Mg, Ca, Ba, 
Sr, Zn

II
Mn II, IV, VI, VII

Fe, Cr II, III, VI

'4M5 6E57> 6OEL4O 64?5=F=>EFL E>6?4-
445F E =><5D>< 7DG??O, >4=4>> =5>5-
E>4<<> 74?><=<FL, GF> ><E?>D>4, DF>D 
< 47>F =<>>744 =5 ?D>O6?ONF 64?5=F=>-
EF<, D46=>= =><5DG 7DG??O. �OEL4O 64-
?5=F=>EFL DF>D4 4 I, ><E?>D>44 4 III. 
�OEL4O 64?5=F=>EFL 47>F4 4 IV, 4 =5 V, 
?>E>>?L>G 47>F =4 6=5L=5< GD>6=5 <<5-
5F ?<LL 4 >D5<F4?< <, E>>F65FEF65==>, 
<>65F >5D47>6O64FL F>?L>> 4 E6O7<.

!

 %F5?5=L >><E?5=<O

%F5?5=L >><E?5=<O 4 MF> GE?>6=O= 74DO4, 
>>F>DO= 6>7=<> 5O =4 4F><5 44==>7> M?5<5=-
F4 6 E<<<G5E>>< E>54<=5=<<, 5E?< ?D54?>-

?>6<FL, GF> 6E5 M?5>FD>==O5 ?4DO ?>?=>EFLN 
E<5EF<?<EL > 4F><4< M?5<5=F>6 E =4<5>?L-
L5= M?5>FD>>FD<F4F5?L=>EFLN, F> 5EFL 6E5 
E6O7< <<5NF <>==O= E4D4>F5D. %F5?5=L >><E-
?5=<O >5>7=4G45FEO 4D45E><<< F<DD4<<, 5O-
645F >FD<F4F5?L=>= <?< ?>?>6<F5?L=>=.

�5>7=4G4O EF5?5=L >><E?5=<O, 646=> <E-
?>?L7>64FL E?54GNMGN D>D<G 74?<E<: 
E=4G4?4 7=4>, ?>F>< F<DD4 (=4?D<<5D, 
+5, 32). �4?<EL 23, 3+ <E?>?L7GNF 4?O 
>5>7=4G5=<O 74DO44 <>=4!

!

�D46<?4 D4EGUF4 EF5?5=< >><E?5=<O

1. %F5?5=L >><E?5=<O M?5<5=F>6 6 ?D>EFOE 
65M5EF64E 6E5744 D46=4 0.
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2. %G<<4 6E5E EF5?5=5= >><E?5=<O 6 <>?5-
>G?5 D46=4 0, 4 6 <>=5 4 74DO4G <>=4.

3. $F>D (>4> E4<O= M?5>FD>>FD<F4F5?L=O= 
M?5<5=F) 6E5744 ?D>O6?O5F EF5?5=L >><E?5-
=<O 31.

4. �<E?>D>4 ?>GF< 6E5744 ?D>O6?O5F EF5?5=L 
>><E?5=<O 32, >D><5 E>54<=5=<= E DF>D><, 
=4?D<<5D O2

+1F2, O+2F2, 4 F4>65 ?5D>>E<4>6 
H2O2

31 < EG?5D>>E<4>6 KO2
31/2.

5. �5F4??O ?D>O6?ONF ?>?>6<F5?L=O5 EF5-
?5=< >><E?5=<O (>FD<F4F5?L=O5 F>65, => 
6 D4<>4E L>>?L=>= ?D>7D4<<O >=< =5 D4E-
E<4FD<64NFEO). �5F4??O IA 7DG??O <<5NF 
?>EF>O==GN EF5?5=L >><E?5=<O +1, <5F4??O 
II� 7DG??O 4 +2, <5F4??O III� 7DG??O 4 +3. 
' <5F4??>6 ?>5>G=OE ?>47DG?? =5F ?>EF>O=-
=>= EF5?5=< >><E?5=<O.

6. %F5?5=< >><E?5=<O =5<5F4??>6 746<EOF 
>F F>7>, E >4><<< 4F><4<< >=< E>54<=5=O:
ðþ 5E?< F>?L>> E 4F><>< <5F4??4, F> EF5?5=L 

>><E?5=<O =5<5F4??4 >FD<F4F5?L=4O (=4-
?D<<5D, EG?LD<4O <5F4??>6: Na2

+1S32);
ðþ 5E?< E 4F><>< =5<5F4??4, F> EF5?5=L 

>><E?5=<O <>65F 5OFL < ?>?>6<F5?L-
=4O, < >FD<F4F5?L=4O 4 MF> 746<E<F >F 
M?5>FD> >FD<F4F5?L=>EF< 4F><>6 M?5<5=F>6, 
6E>4OM<E 6 E>54<=5=<5. �4?D<<5D, 6 E5-
D>6>4>D>45 H2

+1S32 E5D4 5>?55 M?5>FD>-
>FD<F4F5?L=4 ?> ED46=5=<N E 6>4>D>4><, 
4 6 E>54<=5=<< E ><E?>D>4>< S+6O3

32 <5-
=55 M?5>FD>>FD<F4F5?L=4. 

7. �>4>D>4 G4M5 6E57> ?D>O6?O5F EF5?5=L 
>><E?5=<O +1, >D><5 7<4D<4>6 <5F4??>6, 
745 EF5?5=L >><E?5=<O D46=4 31, =4?D<<5D 
Na+1H31.ð
8. �4>E<<4?L=4O EF5?5=L >><E?5=<O 4?O =5-
<5F4??>6 IA4VIIIA ?>47DG?? (>D><5 ><E-
?>D>44 < DF>D4) D46=4 =><5DG 7DG??O, 
<<=<<4?L=4O EF5?5=L >><E?5=<O 4?O MF<E 
M?5<5=F>6 D4EEG<FO645FEO ?> D>D<G?5: =>-
<5D 7DG??O <<=GE 8.

9. �?O <5F4??>6 <<=<<4?L=4O EF5?5=L >><E-
?5=<O 4 0.

 %���'�%��/ %�/�,

%<<<G5E>4O E6O7L 4 E6O7L <564G 4F><4<< 
6 <>?5>G?5 <?< <>?5>G?OD=>< E>54<=5=<<, 
6>7=<>4NM4O 6 D57G?LF4F5 ?5D5=>E4 M?5>FD>-
=>6 E >4=>7> 4F><4 =4 4DG7>= ?<5> >5>5-
M5EF6?5=<O M?5>FD>=>6 4?O >5><E 4F><>6.

 %4D4>F5D<EF<>< E<<<G5E>>= E6O7<

�?<=4 E6O7< 4 D4EEF>O=<5 <564G O4D4<< 
46GE E<<<G5E>< E6O74==OE 4F><>6.

-=5D7<O E6O7< 4 <<=<<4?L=>5 >>?<G5-
EF6> M=5D7<<, >>F>D>5 =5>5E>4<<> 74FD4F<FL 
=4 D47DO6 E6O7<. '5< 5>?LL5 4?<=4 E6O7< 
<564G 4F><4<<, F5< <5=LL5 M=5D7<O E6O7<, 
< =4>5>D>F.

�D4F=>EFL E6O7< 4 G<E?> >5M<E M?5>FD>=-
=OE ?4D, 74 EGUF >>F>DOE >5D47>64=4 E<<<-
G5E>4O E6O7L <564G 4F><4<<.

�4?5=F=O= G7>? 4 G7>? <564G 6>>5D464-
5<O<< ?DO<O<<, ?D>E>4OM<<< G5D57 F5=FDO 
4F><>6, GG4EF6GNM<E 6 >5D47>64=<< E<<<G5-
E>>= E6O7<.

�D< >5D47>64=<< E<<<G5E>>= E6O7< 4F>< 
EFD5<<FEO ?>?GG<FL M?5>FD>==GN >>=D<7G-
D4F<N 5?47>D>4=>7> 7474 < >>DG6<FL E55O 
46G<O (4G5?5F) <?< 6>E5<LN (>>F5F) M?5>FD>-
=4<<.

 &<?O E<<<G5E>>= E6O7<

ðþ �>==4O.

ðþ �5F4??<G5E>4O.

ðþ �>64?5=F=4O:

ð• ?>?OD=4O;

ð• =5?>?OD=4O.

ðþ �>4>D>4=4O:

ð• 6=GFD<<>?5>G?OD=4O;

ð• <56<>?5>G?OD=4O.

���� ���%���/ &��� %�/��

1. �?D545?5=<5.

2. %>54<=ONM<5 G4EF<FO.

3. $47=>EFL M?5>FD>>FD<F4F5?L=>EF< E>-
E54=<E 4F><>6.

4. �5E4=<7< 6>7=<>=>65=<O E6O7<.

5. %6>=EF64.

6. �D<<5DO.

7. %E5<4 >5D47>64=<O.
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÷ �5E4=<7< >5D47>64=<O >>64?5=F=>= E6O7<

�5<5==O=: >464O= <7 E6O7O645<OE 4F><>6 ?D5-
4>EF46?O5F ?> >4=><G =5E?4D5==><G M?5>FD>=G 
4?O >5D47>64=<O E6O7<.

H H H

N

2p
2s

H

�>=>D=>-4>F5?F>D=O=: >4<= 4F>< (4>=>D) ?D5-
4>EF46?O5F =5?>45?U==GN ?4DG M?5>FD>=>6, 4 4DG-
7>= (4>F5?F>D) 4 64>4=F=GN >D5<F4?L.

&5>D5F<G5E><5 >E=>6O E<<<<

 �>64?5=F=4O ?>?OD=4O E6O7L

1. %6O7L <564G 4F><4<< D47=>7> 6<44.

2. �5� + �5�. 

3. < 1,7.

4. �5D47>64=<5 >5M<E M?5>FD>==OE ?4D.

5. �4EOM45<>EFL < =4?D46?5==>EFL.

6. H2O, HF, SO2, CH4.

OCO

�=%=�

�6>==4O >>64?5=F=4O E6O7L

 �5F4??<G5E>4O E6O7L

1. %6O7L, G45D6<64NM4O 6<5EF5 4F><O <5-
F4??4, E =4?<G<5< 6OE>>>= >>=F5=FD4F<< 
6 <5F4??4E M?5>FD>=>6 ?D>6>4<<>EF< 4 
«M?5>FD>==>7> 7474».

2. �5 + �5.

3. 0.

4. �5?>>4?<74F<O E6O7O64NM<E M?5>FD>=>6.

5. �5=4?D46?5==>EFL.

6. �5F4??O: Na, Al, Au.

�4F<>= <5F4??4
-?5>FD>=

 �>64?5=F=4O =5?>?OD=4O E6O7L

1. %6O7L <564G 4F><4<< >4=>7> 6<44.

2. �5� + �5�. 

3. 0.

4. �5D47>64=<5 >5M<E M?5>FD>==OE ?4D.

5. �4EOM45<>EFL < =4?D46?5==>EFL.

6. O2, N2, Cl2, S8.

Cl Cl

Cl3Cl

�4<=>G=4O >>64?5=F=4O E6O7L

 �>==4O E6O7L

1. %6O7L =4 >E=>65 M?5>FD>EF4F<G5E>>7> 674-
<<>45=EF6<O <564G ?D>F<6>?>?>6=> 74DO-
65==O<< <>=4<<. 

2. �4F<>= + 4=<>=.

3. > 1,7.

4. %<5M5=<5 M?5>FD>=>6.

5. �5=4?D46?5==>EFL < =5=4EOM4 5<>EFL.

6. %>?<, >E=>64=<O, >>E<4O <5F4??>6: NaF, 
CaCl2, MgF2, Li2S, BaO, NH4Cl.

Na Na+

Cl3Cl
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 �>4>D>4=4O E6O7L

1. %6O7L <564G ?>?>6<F5?L=> ?>?OD<7>64=-
=O< 4F><>< 6>4>D>44 >4=>= <>?5>G?O < >F-
D<F4F5?L=> ?>?OD<7>64==O< 4F><>< 4DG7>= 
<>?5>G?O.

2. �4� & �4�.

4. �D>F>= >4=>= <>?5>G?O ?D<FO7<645FEO =5-
?>45?U==>= M?5>FD>==>= ?4D>= 4F><4 4DG7>= 
<>?5>G?O. 

5. �56<>?5>G?OD=4O.

6. H2O, HF, NH3, >4D5>=>6O5 ><E?>FO, E?<D-
FO, 4<<=O, 55?><, =G>?5<=>6O5 ><E?>FO.

7. �=GFD<<>?5>G?OD=4O

�56<>?5>G?OD=4O

HO
H%

O

OH

H

H

HH H
O OO

-?5>FD>==O5 >5?4>4 4F><>6 <<5NF D47?<G-
=GN D>D<G, <E ?5 D5 >DO64=<5 <>65F >EGM5EF-
6?OFLEO D47=O<< E?>E>54<<. � 746<E<<>EF< 
>F E?>E>54 ?5D5>DO64=<O < E<<<5FD<< >5-
D47GNM57>EO >5?4>4 D47?<G4NF ó- < ð-E6O7< 
(E<7<4- < ?<-E6O7<).

ó-E6O7< >5D47GNFEO ?D< ?5D5>DO64=<< >5-
?4>>6 ?> ?<=<<, E>54<=ONM5= O4D4 4F><>6.

÷ �?7>D<F< >?D545?5=<O F<?4 E6O7<

�5M5EF6> >5D47>64=> >4=<< M?5<5=F><?

�4

�4

�4

�4

�5F

�5F

�5F

�5F

�5F

�5M5EF6> >5D47>64=> �5?

�5M5EF6> >5D47>64=> 46G<O M?5<5=F4<<?

�5M5EF6> O6?O5FEO ><E?>F>=? -� < 1,7?

�>?OD=4O �%

�>?OD=4O �%

�5?>?OD=4O �% �5F4??<G5E>4O

�>==4O

�>==4O <564G �5 < ><E?>F=O< >EF4F>><

�4

1. 'EF4=>6<F5 E>>F65FEF6<5 <564G D>D<G?>= E>54<=5=<O < EF5?5=LN >><E?5=<O E?>D4 
6 MF>< E>54<=5=<<: > >464>= ?>7<F<<, >5>7=4G5==>= 5G>6>=, ?>455D<F5 E>>F65FEF6G-
NMGN ?>7<F<N, >5>7=4G5==GN F<DD>=.

$�$�'�� %��������/ %&����, ���%����/ %��$�

�) Cl2O3
�) KClO4
�) HClO3

1) +7
2) 33
3) +3
4) +5

�F65F: 
� � �

3 1 4

��- 9 >?4EE


